Arjeplogs BS

PARTAVLING 2022-03-17 2022-03-17

Partavling, 5 bord, 10 par. Antal brickor: 24. Medel: 96.0.

Plac  Par Poéng % Namn MID Klubb

1 1 115.6 60.20  Ture Tjarnstréom - Mona Nilsson 18682 10338  Arjeplogs BS

2 10 112.1 58.40 Nils-Olov Jakobsson - Rickard Lestander 9473 11712  Arjeplogs BS

3 2 103.9 54.10 Barbro Eriksson - Annika Lundgren 52700 65902  Arjeplogs BS

4 4 100.9 52.54  Karl-Lennart Lundmark - Leif Ohrnell 17804 55980  Arjeplogs BS

5 9 97.0 50.54 Maud Johansson - Alsy Lévbom 40358 12562  Arjeplogs BS

6 8 96.3 50.14  Per-Gunnar Sundstrém - Sofi Sundstrém 87191 87190  Arjeplogs BS

7 6 91.8 47.80  Nils-Ake Asplund - Per Hedemalm 5347 580 Arjeplogs BS

8 3 91.6 47.73 Bertil Holmqvist - Roland Sundstrém 10347 82105  Arjeplogs BS

9 7 86.2 44.88  Anders Holmlund - Mikael Lejon 200388 66661  Arjeplogs BS

10 5 64.6 33.66  Tom Nilsson - Monika Westerlund 58461 52696  Arjeplogs BS
1 Nord Ingen 2 Ost NS 3 Syd OV 4 Vast Alla
Par  Kontr Ut Res Poéng | Par Kontr Ut Res Poéng | Par Kontr Ut Res Poéang | Par Kontr Ut Res Poang
105 INO-2 #5 100 8000105 3NS= ¢2 600 8000|91 44 O= ¥v3 620 800.0| 35 64 N+1 #9 1460 8.0 0.0
36 INO= o] 90 6.020| 36 INN+3 #4 180 6.020| 24 44 O+1 ¢9 -650 3.050( 92 3¢DV-34A 800 6.020
24 24 N-2 A -100 4040| 24 24 S+2 v8 170 404.0| 36 44 O+1 v3 -650 3.050| 81 44 S+2 ¢K 680 3.05.0
78 INO+1 v3 -120 1.07.0| 78 14 S+2 ¢2 140 206.0| 78 44 O+1 v3 -650 3.050|106 44 S+2 ¢A 680 3.05.0
91 INO+1 J -120 1.070| 91 34S-1 v8 -100 0.08.0|105 44 O+1 v3 -650 3.050| 47 3#N= «5 110 0.08.0
5 Nord NS 6 Ost OV 7 Syd Alla 8 Vst Ingen
Par  Kontr Ut Res Poang | Par Kontr Ut Res Poang | Par Kontr Ut Res Poang | Par Kontr Ut Res Poang
35 3NV-1 ¢K 50 6.020|81 5¢S= 4K 400 800.0[|107 4vS= &7 620 8.00.0| 12 44DO-3¢J 500 8.00.0
47 2vV-1 ¢K 50 6.020]| 35 Pass 6020 93 2¢vS+1 #3 140 ©6.020(107 5¢ N-1 vA -50 6.0 2.0
92 3NV-1 ¢A 50 602092 24V+1 #4 -140 3.05.0| 12 44 S-1 v5 -100 3.050| 46 4¢DN-143 -100 3.0 5.0
106 24 O= ¢7 -110 206.0|/106 34 O= &5 -140 3.050| 46 44 S-1 v5 -100 3.050( 58 4¢ N-2 aA -100 3.0 5.0
81 3¢ N-2 5 -200 0080| 47 44V= vA -620 008.0| 58 4vS-2 #3 -200 0080| 93 5¢DN-24A -300 0.0 8.0
9 Nord OV 10 Ost Alla 11 Syd Ingen 12 Vast NS
Par  Kontr ut Res Poang | Par Kontr ut Res Poang | Par Kontr ut Res Poang | Par Kontr ut Res Poang
93 5¢ N= &K 400 8000|57 4vN+1 #3 650 8000|57 24 S+1 #A 140 8.00.0(108 4y N+1 v7 650 8.00.0
46 3vyS+2 #T 200 6.02.0|108 4vy N= &K 620 6.020| 23 24 S= #A 110 503057 3NS+1 #8 630 6.020
107 2¢ N+4 &2 170 4.04.0| 23 4v N-1 #K -100 206.0(108 1¢ S+2 43 110 5030( 23 49y N= 4«3 620 3.05.0
12 3¢ N+2 #Q 150 1.070| 61 64 N-1 #K -100 2060 94 1¢ S+1 43 90 206.0| 61 44 N= &4 620 3.05.0
58 3¢ N+2 «K 150 1070| 94 3vyN-1 K -100 206.0| 61 44 N-2 ¢A -100 0080| 94 24 O= ¥8 -110 0.0 8.0
13 Nord Alla 14 Ost Ingen 15 Syd NS 16 Vast OV
Par  Kontr Ut Res Poang | Par Kontr Ut Res Poang | Par Kontr Ut Res Poéng | Par Kontr Ut Res Poéang
34 24 N+1 vA 140 6020 68 INN+1 4 120 7.01.0| 72 3NV-3 #3 150 7.010| 45 2¢vy N+1 6 140 7.01.0
68 24 N+1 «J 140 6.020(101 INN+1 T 120 7.01.0| 95 3NV-3 #3 150 7.01.0(102 3y N= 3 140 7.01.0
95 34 N= ¢9 140 6.020| 34 240-2 ¢4 100 404.0| 34 24 0= 42 -110 3.050| 83 34 O-1 #A 100 4.04.0
72 2v0O+1 ¢3 -140 206.0] 95 INN= &9 90 206.0| 68 24 0= 42 -110 3.050| 96 24S= ¢A 90 206.0
101 4vO= 45 -620 0.080| 72 14S= #Q 80 0080101 34 O= 49 -140 0080( 71 24 O= &K -110 0.0 8.0
17 Nord Ingen 18 Ost NS 19 Syd OV 20 Vast Alla
Par  Kontr Ut Res Poéang | Par Kontr Ut Res Poéang | Par Kontr Ut Res Poéang | Par Kontr Ut Res Poang
45 3vyS+1 ¢6 170 800.0| 45 2vS+3 #A 200 7.010| 82 44 S= #Q 420 7010|( 14 34V-1 &K 100 8.00.0
83 3#V-1 vT 50 6.020(102 2vS+3 48 200 7010|103 4v N= &5 420 7010|182 24N= 5 90 5030
102 1v O= &J -80 4040 83 3y S+1 #A 170 404.0| 14 34S+1 ¢K 170 4.040| 97 2#4N= 45 90 5030
71 24V= v5 90 2060( 71 3vS-1 &K -100 206.0| 97 44 S-1 ¢2 -50 206056 INS-2 v4 -200 1.07.0
96 2#V+1l vT -110 0080| 96 4vS-2 ¢4 -200 0080| 56 3vDS-24Q -300 0080103 2¢ S-2 #9 -200 1.07.0
21 Nord NS 22 Ost OV 23 Syd Alla 24 Vast Ingen
Par  Kontr ut Res Poéang | Par Kontr ut Res Poéang | Par Kontr Ut Res Poéang | Par Kontr Ut Res Poang
97 4v V-3 #2 150 8000| 25 44 N+3 #9 510 8000| 13 54V-1 #9 100 8.000(104 3NS= +9 400 8.00.0
103 3NV-1 ¢6 50 6.020|98 44 N+2 v9 480 6.020|104 24 V+3 #7 -200 6020 25 2¢ S+2 #6 130 5.0 3.0
56 B3NV= ¥8 -400 4040| 13 44 N+1 v9 450 3.050| 25 44 0= ¢8 -620 4040| 67 3¢ S+1 46 130 5.03.0
14 3NV+1 43 -430 1.07.0(104 44 N+1 v9 450 3.050( 67 44 V+l #9 -650 206.0| 98 3¢ S= &6 110 2.06.0
82 3NV+1 v6 -430 1070 67 3NN+1 ¢4 430 0080| 98 44V+2 v9 -680 0.080| 13 3NS-1 &K -50 0.0 8.0
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